Chapter 14   Cost Planning

Solutions to Odd-Numbered Problems

	CHAPTER 14  
	
	Cost Planning




	E14.7.
	
	

	a.
	Use the cost of goods sold model, and work from the bottom up and then top down to calculate production:
	

	
	
	medallions

	
	Beginning inventory…………………………………………
	4,000

	
	Add: Production……………………………………………..
	  ?

	
	Goods available for sale  ……………………………………
	  ?

	
	Less: Ending inventory………………………………………
	(3,200)

	
	Quantity sold…………………………………………………
	8,000

	
	
	

	
	Goods available for sale = 8,000 + 3,200 = 11,200 medallions
	

	
	Production = 11,200 – 4,000 = 7,200 medallions
	

	
	
	

	b.
	Use the same approach, but notice that quantity used is a function of quantity produced from the production budget.  Each medallion requires 1/2 of a yard of ribbon.
	

	
	
	yards

	
	Beginning inventory…………………………………………
	200

	
	Purchases ……………………………………………………
	   ?  

	
	Raw materials available for use ……………………..………
	   ?

	
	Less: Ending inventory………………………………………
	  (80)

	
	Raw materials used in production (1/2 * 7,200 medallions)…
	3,600

	
	
	

	
	Raw materials available for use = 3,600 + 80 = 3,680 yards
	

	
	Purchases = 3,680 - 200 = 3,480 yards
	


	E14.9.
	
	
	

	a.
	Use the raw material inventory/usage model:
	Quarter I
	Quarter II

	
	Beginning inventory …………………………………………
	18,000
	32,400

	
	Add: Purchases ………………………………………………
	    ?    .
	    ?    .

	
	Raw materials available for use ………………..……………
	     ?
	     ?

	
	Less: Ending inventory (30% of next quarter’s usage)………
	(32,400)
	(19,800)

	
	Usage (6 ounces * number of gallons of product to be produced)...
	60,000
	108,000

	
	
	
	

	
	Working backwards (up the model):
	Quarter I
	Quarter II

	
	Raw materials available for use …………..…………………
	92,400
	127,800

	
	Purchases (subtract beginning inventory)……………………
	74,400
	95,400

	
	
	
	

	b.
	Inventory provides a "cushion" for delivery delays or production needs in excess of the production forecast.


	E14.11.
	
	
	
	
	

	
	
	June
	July
	August
	September

	
	Sales forecast…………………………
	$140,000
	$160,000
	$170,000
	$195,000

	
	Cash collections:
	
	
	
	

	
	35% of current month’s sales …………………………………
	$  59,500
	$68,250

	
	55% of prior month’s sales ……………………………………
	88,000
	93,500

	
	  8% of second prior month’s sales ……………………………
	    11,200
	   12,800

	
	Total cash collections budget …………………………………
	$158,700
	$174,550


	E14.13.
	
	

	a.
	Worktype 1 (0.20 hours @ $18.40 per hour)…………………..……...
	$ 3.68

	
	Worktype 2 (0.30 hours @ $16.50 per hour)……………………….....
	4.95

	
	Worktype 3 (0.42 hours @ $28.00 per hour)………...………………...
	  11.76

	
	Total direct labor cost per pedestal……………………………………..
	$20.39

	
	
	

	b.
	No, because the engineer developed ideal standards.  It is unlikely that the standards would be met in practice, and they would not provide positive motivation or result in accurate costing.


	E14.15.
	
	

	a.
	Raw material cost………………………………………..…….…
	$5.68 per bushel

	
	Direct labor and variable overhead …………………………...…
	0.86 per bushel

	
	Fixed overhead…………………………...………………………
	  0.66 per bushel

	
	Total absorption cost …………………………..………...………
	$7.20 per bushel

	
	
	

	
	Each bushel yields 18 pounds of product.  

Cost per pound = $7.20 / 18 = $0.40 per pound.

	
	

	b.
	This cost per pound is not very useful for management planning and control because it                  includes unitized fixed expenses, which do not behave on a per unit basis.


	P14.17.
	
	
	
	

	
	
	May
	June
	July

	
	Sales forecast …………………………………
	$100,000
	$88,000
	$124,000

	
	Cost of sales @ 58% …………………………
	58,000
	51,040
	71,920

	
	
	
	
	

	
	Purchases budget:

	
	Beginning inventory …………………………
	$45,000
	$40,832
	

	
	Purchases………………………………………
	    ?     .
	    ?     .
	

	
	Cost of merchandise available for sale
	    ?
	    ?
	

	
	Less: Ending inventory (80% * next
	
	
	

	
	          month’s cost of goods sold) ……………
	(40,832) 
	(57,536)
	

	
	Cost of goods sold ……………………………
	$58,000
	$51,040
	

	
	
	
	
	


	P14.17.
	(continued)
	
	
	

	
	Cost of merchandise available for sale = 
	
	
	

	
	   (Cost of goods sold + Ending inventory) ……
	$98,832
	$108,576
	

	
	Purchases = (Cost of merchandise available
	
	
	

	
	    for sale - Beginning inventory)  ……………
	$ 53,832
	$67,744
	


	P14.19.  
	
	
	

	a.
	
	September
	October

	
	Sales forecast …………………….………………………
	$42,000
	$54,000

	
	Purchases budget…………………………………………
	37,800
	44,000

	
	Operating expense budget ……….………………………
	10,500
	12,800

	
	
	
	

	
	Beginning cash ……..……………………………………
	$40,000
	

	
	
	
	

	
	Cash receipts:
	
	

	
	August 31 accounts receivable…...………………………
	20,000
	

	
	September sales…………..………………………………
	          0
	

	
	Total cash receipts...………………...……………………
	$20,000
	

	
	
	
	

	
	Cash disbursements:
	
	

	
	August 31 accounts payable and accrued expenses...……
	$24,000
	

	
	September purchases (75% * $37,800)…..………………
	28,350
	

	
	September operating expenses (75% * $10,500) ……..…
	    7,875
	

	
	Total cash disbursements ………………...………………
	$60,225
	

	
	
	
	

	
	Ending cash………………………………………………
	$   (225)
	

	
	
	
	

	b.
	PrimeTime Sportswear's management should try to accelerate the collection of accounts receivable, slow down the payment of accounts payable and accrued expenses, and/or negotiate a bank loan.  If sales growth continues at a very high rate, the company will probably need to secure some permanent financing through sale of bonds or stock.


	P14.21.  
	Answer (and one possible numbered sequence of solving the problem):

	
	
	
	
	
	

	
	
	April
	May
	June
	Total

	
	Cash balance, beginning …………
	$ 26
	9.   $ 30
	10.   $ 30
	$ 26

	
	Add collections from customers …
	1.    68
	108
	11.    136
	17.    312

	
	    Total cash available……………
	  94
	8.    138
	166
	338

	
	Less disbursements:
	
	
	
	

	
	  Purchase of inventory …………
	3.    50
	60
	48
	18.   158

	
	  Operating expenses
	30
	7.    40
	16.   24
	19.     94

	
	  Capital additions
	34
	8
	15.     2
	44

	
	  Payment of dividends
	    -
	     -
	14.     8
	    8

	
	    Total disbursements
	2.   114
	108
	  82
	304

	
	Excess (deficiency) of cash 

   available over disbursements …
	(20)
	6.   30
	84
	20.    34

	
	  Borrowings
	5.    50
	-
	-
	21.    50

	
	  Repayments (including interest).
	   - 
	   - 
	13.     51
	22.    51

	
	Cash balance, ending
	4.  $ 30
	$ 30
	12.  $ 33
	$ 33

	
	
	
	
	
	

	
	Solution approach:   

1. $94 - $26 = $68
2. $94 + 20 (deficiency of cash available) =  $114
3. $114 - $30 - $34 = $50
4. Minimum month-end balance

5. $30 + 20 (deficiency of cash available) = $50
6. Equal to ending cash balance for May because there were no borrowings or repayments during the month.

7. $108 - $60 - $8 = $40
8. $108 + $30 (excess of cash available) = $138
9. $138 - 108 = $30 (or $30 ending balance from April carried forward)

10. Ending cash balance from May is carried forward to beginning cash balance of June = $30
11. $166 - $30 = $136
12. Ending cash balance for the third quarter is the ending cash balance for June = $33
13. $84 - $33 = $51 (or $50,000 * .08 * 3/12 = $1,000 Interest)

14. Total dividends = $8, and no dividends were paid in April and May

15. $44 total capital additions - $34 - $8 = $2
16. $82 - $48 - $2 - $8 = $24
17. $338 - $26 = $312
18. Total purchases (across) = $50 + $60 + $48 = $158
19. Total operating, expenses (across) = $30 + $40 + $24 = $94
or $304 - $158 - $44 - $8 = $94
20. $338 - $304 = $34
21. Borrowings from April

22. Repayments in June


	P14.23.
	
	
	
	
	

	a.
	
	April
	May
	June
	Total

	
	Expected sales in units
	7,000
	10,000
	8,000
	25,000

	
	Selling price per unit
	        $40
	         $40
	         $40
	           $40

	
	Total sales
	$280,000
	$400,000
	$320,000
	$1,000,000

	
	
	
	
	
	

	
	
	
	
	
	

	b.
	Cash collections from:
	April
	May
	June
	Total

	
	March sales
	$132,000a
	
	
	$132,000

	
	April sales
	112,000 
	$154,000
	
	266,000

	
	May sales
	
	160,000
	$220,000
	380,000

	
	June sales
	
	
	128,000
	128,000

	
	Total cash collections
	$244,000
	$314,000
	$348,000
	$906,000

	
	
	
	
	
	

	
	(a) Sales from February and all prior months would have been fully collected (or written off) by the end of March.  Thus, the $132,000 net realizable value of accounts receivable represents the 55% of March sales that will be collected in April (6,000 units sold in March * $40 * 55% = $132,000).

	
	
	
	
	
	

	c.
	
	April
	May
	June
	Total

	
	Beginning inventory of
	
	
	
	

	
	   finished goods  ……………
	3,500
	5,000
	4,000
	3,500

	
	Units to be produced…………
	  8,500
	  9,000
	  8,500
	26,000

	
	Goods available for sale  ……
	12,000
	14,000
	12,500
	29,500

	
	Desired ending inventory of
	
	
	
	

	
	  finished goods (50% of next
	
	
	
	

	
	  month’s budgeted sales) ……
	(5,000)
	(4,000)
	(4,500)
	(4,500)

	
	Quantity of goods sold ………
	  7,000
	10,000
	  8,000
	25,000

	
	
	
	
	
	

	
	Note:  In the total column, the beginning and ending inventory figures represent the number of units on hand at April 1, 2013 and June 30, 2013, respectively.  Thus, the “goods available for sale” line does not add across.

	
	
	
	
	
	

	d.
	
	April
	May
	June
	Total

	
	Beginning inventory of
	
	
	
	

	
	  raw materials …………………
	10,200
	10,800
	10,200
	10,200

	
	Purchases of raw materials ……
	26,100
	26,400
	24,300
	76,800

	
	Raw materials available for use.
	36,300
	37,200
	34,500
	87,000

	
	Desired ending inventory of
	
	
	
	

	
	  raw materials (40% of next
	
	
	
	

	
	  month’s estimated usage)b ……
	(10,800)
	(10,200)
	(9,000)c
	(9,000)

	
	Quantity of raw materials to be
	
	
	
	

	
	  used in production d ………… 
	25,500
	27,000
	25,500
	78,000

	
	
	
	
	
	


	P14.23.
	(continued)

	
	(b) Next month’s “units to be produced” (see answer to part c) is multiplied by three                               pounds to determine raw material requirements, which is then multiplied by 40%.

	
	
	
	
	
	

	
	(c) To determine the desired ending inventory of raw materials for June, the “units to be produced” in July must be determined.  This is done in the same manner as shown in the answer to part c for April, May, and June:

	
	
	
	
	
	July

	
	Beginning inventory of finished goods (carried over from June) ………
	4,500

	
	Units to be produced ……………………………………………………
	     7,500

	
	Goods available for sale…………………………………………………
	12,000

	
	Desired ending inventory of finished goods (50% of August’s sales) …
	(3,000)

	
	Quantity of goods sold …………………………………………………
	     9,000

	
	
	

	
	7,500 * 3 pounds * 40% = 9,000
	
	
	
	

	
	
	
	
	
	

	
	(d) “Units to be produced” each month (see answer to part c) * 3 pounds per unit.

	
	

	
	Note:  In the total column, the beginning and ending inventory figures represent the                             number of pounds on hand at April 1, 2013 and June 30, 2013, respectively. Thus, the “raw materials available for use” line does not add across.
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